
A Resource for Semiconductor Manufacturers

G-31-079AH11 Rev01

PO Box 217 Leander, TX USA 78646-0217  

800-621-9598 sales@glemco.com  www.glemco.com 

Components For 6200 Quadrapole Assembly

G-31-079AH11 Rev01

P/N 40905 

OEM 0342-0647-0001

We offer cleaning and refurbishing services for the quadrapole assembly.  

For P/N 40905,  refer to P/N 40905R.
Standard Service will clean all components and will replace:
P/N 40921 (24)   pg.4
P/N 30681 (10)   pg.2
P/N 82220 (1)     pg.1
Any other needed repairs or replacements to this assembly will be quoted on 
a case by case basis, upon inspection of the assembly by our technical staff. 



A Resource for Semiconductor Manufacturers

PO Box 217 Leander, TX USA 78646-0217  

800-621-9598 sales@glemco.com  www.glemco.com 

2       

6       

4       

9       

3       

1       
8       

7       

5

1 G-31-079AH11 Rev01

G-31-079AH11 Rev01

P/N 40905 

OEM 0342-0647-0001

Item P/N  Description OEM QTY

1 40907 Quadrapole Magnet Ring 6692-0014-2001 1

2 40910 Quadrapole Ring Aperture, Graphite 0295-0013-2001 2

3 40913 End Plate 5880-0223-3001 2

4 40917 Base Plate 2010-0012-3001 1
5 40922 Clamp 7299-0006-1001 4
6 82220 O-Ring - 264 Buna-N 35S4023 1

7 82411 SHCS 6-32 X 3/8” SST E47000017 24

8 82799 FHPS 6-32 x 3/4 82º No Reference 4

9 82800 FHPS 8-32 x 3/4 82º No Reference 4



A Resource for Semiconductor Manufacturers

PO Box 217 Leander, TX USA 78646-0217  

800-621-9598 sales@glemco.com  www.glemco.com 

6

4       

11       

5       

8 

9 

10       

13       

1       

2       

7       

3       

2

12       

G-31-079AH11 Rev01

G-31-079AH11 Rev01

P/N 40905 

OEM 0342-0647-0001

Item P/N  Description OEM QTY

1 30681 Ceramic Standoff 3/8 X 1/2 7230-0003-0004 10

2 40912 Support Bar, Aluminum 0435-0024-3001 4

3 40916 Quadrapole Strap No Reference 2

4 40923 Connector Strap No Reference 2

5 40924 Long Connector Strap No Reference 1
6 40925 Short Connector Strap No Reference 1
7 82294 Nut 4-40 Hex 18-8 SST 5053-0001-0042 8

8 82600 No.4 Internal Tooth Lock-Washer 8464-0001-0004 8

9 82713 VSHCS 4-40 x 1/2 18-8 SST No Reference 8

10 82722 VSHCS 6-32 x 1/2” 18-8 SST 0996-0004-0002 24

11 82723 Vented Screw 6-32 x 3/16 PHPS 18-8 SST No Reference 12

12 82724 Set Screw, 6-32 X 3/8”, SST 6996-0009-6203 10

13 82726 Vented Screw 6-32 x 1/4 PHPS 18-8 SST No Reference 16



A Resource for Semiconductor Manufacturers

PO Box 217 Leander, TX USA 78646-0217  

800-621-9598 sales@glemco.com  www.glemco.com 

7       

8       

2       

3       

5       

6       

1       
9       

3

4       

G-31-079AH11 Rev01

G-31-079AH11 Rev01

P/N 40905 

OEM 0342-0647-0001

Item P/N  Description OEM QTY

1 40918 Connector Strap 3500-0001-2001 4

2 40919 Contact Strap 7267-0001-2001 2

3 40920 Strap 7299-0007-1001 4

4 82294 Nut 4-40 Hex 18-8 SST 5053-0001-0042 8

5 82600 No.4 Internal Tooth Lock-Washer 8464-0001-0004 8
6 82713 Vented Set Screw 4-40 x 1/2 18-8 SST No Reference 8
7 82723 Vented Screw 6-32 x 3/16 PHPS 18-8 SST No Reference 12

8 82724 6-32 X 3/8”, Set Screw, SST 6996-0009-6203 10

9 82726 Vented Screw 6-32 x 1/4 PHPS 18-8 SST No Reference 16



PO Box 217 Leander, TX USA 78646-0217  

800-621-9598 sales@glemco.com  www.glemco.com 4 G-31-079AH11 Rev01

A Resource for Semiconductor Manufacturers

1       

6       

4       

8       

7       

5       

2       

3       

G-31-079AH11 Rev01

P/N 40905 

OEM 0342-0647-0001

Quadrapole Alignment Tool

P/N 40906

Item P/N  Description OEM QTY

1 40909 Long Pole Piece, Aluminum 5936-0003-2001 4

2 40911 Quadrapole Ring Aperture 0295-0014-2001 2

3 40914 Aperture Mounting Plate 5880-0224-2001 2

4 40915 Short Pole Piece 5936-0004-2001 8
5 40921 Ceramic Standoff 1/2 x 3/4 7230-0003-0020 24
6 82456  No. 4 Washer, 028” Thick X .125” ID X .250” OD  SST 1331-062-00 4

7 82729 Vented Set Screw 6-32x1/2 18-8SST No Reference 24

8 83630 PHCS 4-40 x 1/4 18-8 SST No Reference 4


